Geometry:

‘ 0
Complimentary Angles: Two angles that add up to 90° . LX T L 3 = C{ 0

Supplementary Angles: Two angles that add up to 180°
/ Lo + Lb=130°
[ o’ /b 5

Circles: Area = & r?
Circumference=27nr

A=r-22=qr-9=3.4-9=2238.461n
Czaffe 3=+ 6=3214-6=1%.34in

Triangle: The inside angles of a triangle add up to 180°

Bs A0 +40 + S0 =130°

Volume (prisms): V=Area of Base X Height

A Area of A=4-3 U =b vegh
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Volume (cylinder): V== r2x Height
SRR -lamir’]

Proportions/Percents
Proportion: Two ratios that are equal:

3 oppleS  _ Q O\Eb\ezS
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Set Up: 1) Write the ratio you know 2) Line up third piece of info by units

Solving: Multiply the numbers diagonally, divide by the third number 3
: ' X sycsa=
Percents ‘Vo _ 1S Whatis A0% of 67 ' i Hzai\ oS
00 ~ ot % 30x6=120%100= 1.4 '
Statistics b X=1.2

Mean: The “average’—add together all numbers, divide by number of numbers

r _ A4
$6,3,2,56,33 Meon=2L -4 |
Median: The “middle number” when the numbers are in order:
23y, 3, @3 656,33 Median=5
Mode: The number that occurs most often:

Solve for x: Use the opposite operations!

O x+10=1a X = A4 v = ,
—-10_ -0 @ % ‘—‘5" @ _‘% X /_i% @ X—’S = q
X=a| X=3 —X=10 > 9
Fractions-> Decimals-> Percent B x:: X= A7)

Fraction->Decimal: take the top number, divide it by the bottom number.
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Decimal->Percent: Move decimal to the right 2 places
0.75, = 757

Percent>Fraction: Put your percent over 100, then simplify. 74 - 95 \
0035 ~ H



